Combine like terms.

#### Examples

 $(3x^2 + 4x) + (-6x^2 + x) =$ 

### Examples

 $(3x^2 + 4x) - (6x^2 + x) =$ 

 Do NOT change exponents on the variables.

$$(5x^2 - 8) + (2x^2 - 3x + 1) =$$

$$(5x^2 - 8) + (2x^2 - 3x + 1) = (5x^2 - 8) - (2x^2 - 3x + 1) =$$

 Follow the rules of adding.

 Be careful of negative signs!

# **Examples**

#### **Examples**

$$3x^2(4x^4-2x^2+x)=$$

$$\frac{36x^5 - 24x^4 + 12x^3}{12x^3}$$

 Divide each term by the divisor.

 For 2 binomials, FOIL or box.

$$(x + 3)(x - 7) =$$

$$\frac{15x^2y^2 - 35xy}{5x} =$$

 Remember to divide coefficients and subtract exponents.

 Remember to multiply coefficients and add exponents.

Do NOT "cancel" any terms.

## Subtract Polynomials

Add Polynomials

+

Operations with Polynomials

### Review

Divide Polynomials Multiply Polynomials

÷

Retrieved from http://www.aldenschools.org (MCC9-12.A.SSE.1a; MCC9-12.A.APR.1; MCC9-12.A.APR.6)